Exam Questions

Solve Linear Equations

15. Solve the equation  5—2(1+3x)=27

16. Solve the equation 5+3a=a—15

Inequalities

1. Solve the inequality 8-x>3(2x+3)

2. Solve algebraically the inequality 3v<4—(y+2)

3. Solve the inequality 3—(x—6) < 2x

4, Solve algebraically the inequality ~ 6x—2 < 5(1-3x)

5. Solve algebraically, the inequality  2+5x=8x-16

6. Solve the inequality 2—35(3x—2)=4(1—3x) where x is a positive integer.
Answers

Solve Linear Equations

15, 5-2-6x=27 —-24=6x x=-4
6. S5+3a=a-15 2a=-20 a=-10

Inequalities

L 8-x=32x+5 — 8—x=6x+15 —= x<-1]

| —

L Jy<d—(y+2) = 3y<2—y = y<

3 3-x+6<2x — 9<3x — x>9

4 fx-2<5-15x — 2lx<T — .r-r.'.%

3 2+5xz8x-16 — 18=23x —ax=6

6. 2-15x+1024-12x — 12-15xz4-12x
8

— B23x —= x=— x=2
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X=1o0r2 since xis a positive integer.



